
Level 1 

Year 3 Column Subtraction  

(no exchanging) 

 

1. 509 – 301 = 

2. 747 – 115 = 

3. 773 - 142 = 

4. 578 - 427 = 

5. 888 - 184 = 

6. 542 – 322 = 

7. 896 - 514 = 

8. 795 - 672 = 

 

 

Level 1 

Year 4 Column Subtraction  

(no exchanging) 

 

1. 6509 – 2301 = 

2. 5747 – 3115 = 

3. 2773 - 1142 = 

4. 9578 - 3427 = 

5. 5888 - 3184 = 

6. 8542 – 4322 = 

7. 4896 - 2514 = 

8. 8795 - 2672 = 

  



Level 1 Answer Sheet 

Year 3 Column Subtraction  

(no exchanging) 

 

1. 509 – 301 = 208 

2. 747 – 115 = 632 

3. 773 - 142 = 631 

4. 578 - 427 = 151 

5. 888 - 184 = 704 

6. 542 – 322 = 220 

7. 896 - 514 = 382 

8. 795 - 672 = 123 
 

 

 

 

Year 4 Column Subtraction  

(no exchanging) 

 

1. 6509 – 2301 = 4208 

2. 5747 – 3115 = 2632 

3. 2773 - 1142 = 1631 

4. 9578 - 3427 = 6151 

5. 5888 - 3184 = 2704 

6. 8542 – 4322 = 4220 

7. 4896 - 2514 = 2382 

8. 8795 - 2672 = 6123 

 

 


